:

The nucleus of an atom contams chromosomes

All atoms contain prolons

Atoms are big enough to se6

Electrons are amanged in shedls around the nucleus

Electrons have a larger mass than prolons of neutrons

Electrons have a relative charge of +1 and a retative mass that is usually
gnored (it is neghgible’)

Neutrons are elecincally neutral
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Protons have a redative charge of +1 and a relative mass of 1

Look at each of the false statements in question 2. For each one, wile a comrect version of the statement.
For example, the statement The nucleus of an atom contams chromosomes.” 1s false A possible correct
staterment 15 shown below

Correct statement g The nucleus of an atom contains protons ond neutrons.

Correct stalement
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